QeuA>S

-
=

T\
gl

NIV I NIV NG

DR
Jedi<n

RoAAFIBER - EESEaIE
INASvD

EREZF/HOUvT

EXxH()y7T)

INTS 9T TUT

82C.92C.104C OERBEOEY A XD >TLET,
[= A N -,y - N ~
) H* OERMRAE LT . BRBIBIBD>EE LEIFPRFYLR y
£ ¥ - WERLBYET. ntn
N 1 % BRI
F\‘p. " \ | Fﬁ i
\:< \ \ -.\ - T g,,,\\\
T . 1
e \ sy | 9
ARSI R =i FRENDZEE il
g BU.F v b (E) B @31C28CLL LI, /Y1 Ty YPHISICRERTE ¥ Ao '@é* -~
ZittE BU.F v b (S) - (15C.19C.25C22C 16CIHfERTE £7,)
St BL.F v MS) %@ TEERUMIKTT. OEERADKICOVWTIE PHISE ZEAT 2 HE MEDR LB
L HERMEX20%M5 X 25(CEY B A T IR 2 0, KilEr=182 3 1654P ]
. Al I B | RS |08
e | TENeE | A | B | yL o BNERE @MERE| VEE | PFE [SOPE | VPE [xvE| B8R | & |Tm |EXH
210} SR | BU | U | U | BU | B0
15C 36| 13 [M5x20] 15 15.9 — — — — — [ 20 [100]500] 20/8 28
19C 39| 14 [m5x20] 19 19.1 — — — — — |20 [ 100500 20/@ 28
25C22C | 48| 14 |M5%20 22 gg‘g 22 — | 20% | 20 | 22% | 20 100|500 | 20/® 33
31 31.8 —
31C28C | 57| 18 |M5x20f--3g 55 28 — 25 25 55| 20 | 100400 | 2018 46
39C 62| 20 [M5x20] 39 38.1 — 28 — 30 30 |20 [100] — |20/B 60
51C 78| 21 [M5x20] 51 50.8 — 42 — — — |20 [100] — [20/8 80
63C 92| 20 |m6x25| 63 63.5 — — — — — |20 [200] — |20 28
75C70C | 105| 20 |M6x25 Zg Zgg 70 — 65 65 — |20 (200 — | 18| 108
Z | z-15C 36| 13 [M5x20] 15 15.9 — — — — — [ 20 [100[500] 20/8 61
Z | zZ-19C 39| 14 [M5x20] 19 19.1 — — — — — | 20 [ 100|500 20/@ 63
Z | Z-25C22C | 48| 14 |M5%20 gg gg'g 22 — | 20% | 20 | 22% | 20 100|500 | 20/@ 75
31 31.8 —
Z | Z-31C28C | 57| 18 |M5x20f--3g 553 28 — 25 25 55| 20 | 100|400 | 2018 91
Z | z-39C 62 ] 20 [M5x20[ 39 38.1 — 28 — 30 30 |20 [100] — [20f@] 125
Z | z-51C 78| 21 [M5x20] 51 50.8 — 42 — — — |20 [100] — | 18] 153
Z | Z-63C 92| 20 |[M6x25| 63 63.5 — — — — — |20 200 — | 18] 168
Z | Z-75C70C | 105| 20 |M6x25 ;g Zg; 70 — 65 65 — |20 |200| — | 18| 184
S | S-15C 35[ 14 [M5x20[ 15 15.9 — — — — — 120 [100[500] 20/8 85
S [Ss-19C 41 14 [M5x20] 19 19.1 — — — — — | 20 [ 100|500 | 20/8 85
S | S-25C22C | 48| 14 |M5%20 gg gg‘g 22 — | 20% | 20 | 22% | 20 [100|500 | 20/8 97
S | 8-31C28C | 57| 20 |M5x20 g; g;g 28 — 25 25 ;8 20 [100|400| 20/8| 120
S | s-39C 62| 20 [M5x20] 39 38.1 — 28 — 30 30 [20[100] — [20fB] 145
S [ S-51C 78| 21 [M5x20] 51 50.8 — 42 — — — |20 [100] — | 18] 185
S [ S-63C 92| 22 |M6x25] 63 63.5 — — — — — |20 ]200] — | 18] 230
S | 8-75C70C | 107 | 22 |M6x25 ;g Zgg 70 — 65 65 — |20 |200| — | 18| =260
16C 411 14 [M5x20] 16 21.0 | 16% |14-16%| 15 | 16% |16:18%| 20 | 100 | 500 | 2018 28
36C 74| 22 |M5x25| 36 41.9 36 — 32 — 36 | 20 |100| — |20/ 75
42C 80| 21 |mex25| 42 47.8 42 36 40 40 — |20 [100] — | 208 84
54C 90| 20 |m6x25| 54 59.6 54 — 50 50 — |20 [200] — | 20M@® 98
82C 119 20 |M6x25] 82 87.9 82 — 80 75 — |10 [100] — | 18] 145
92C 132 | 20 |M6x25] 92 100.7 — — 90 — — |10 |10 — | 18| 180 | ®
104C 146 | 20 [M6x25] 104 1134 — — | 100 | 100 — |10 |10 — | 18] 220 | ®
Z | z-16C 411 14 [M5x20] 16 21.0 | 16% |14-16%| 15 | 16% |16:18%| 20 |100 | 500 | 2018 63
Z | Z-36C 74| 22 |M5x25| 36 41.9 36 — 32 — 3 |20 |100] — [20@| 126
Z | z-42C 80| 21 |mex25| 42 47.8 42 36 40 40 — |20 [100] — |20@| 153
Z | Z-54C 90| 20 |mBx25| 54 59.6 54 — 50 50 — |20 |200] — | 18| 188
Z | z-82C 119] 20 |M6x25| 82 87.9 82 — 80 75 — || —]—] 18] 235
Z | Z-92C 132 | 20 |MBx25| 92 100.7 — — 90 — — || —]—] 18] 265 | ©
Z | z-104C 146 | 20 [M6x25] 104 1134 — — | 100 | 100 — |1 —-]—] 18] 316 | ©
S | s-16C 411 14 IMsx20] 16 21.0 | 16% |14-16%| 15 | 16% |16:18%| 20 [ 100|500 | 118 85
S | 8-36C 68| 20 [M5x25| 36 419 36 — 32 — 3 | 20100 — | 18] 180
S | s-42C 76| 22 |MBx25| 42 478 42 36 40 40 — |20 100 — | @] 190
S | 8-54C 91| 22 |Mex25| 54 59.6 54 — 50 50 — |20 200 — | 18] 230
S | s-82C 119 20 |M6x25] 82 87.9 82 — 80 75 — || —]—] 18] 380
S | s-92C 132 | 20 |M6x25] 92 100.7 — — 90 — — |10 —]—] 18| 420 | ©
S | s-104C 146 | 20 [M6x25] 104 1134 — — | 100 | 100 — 1| —]—] 18] 460 | =
18 { =BRBHRD - SR Z=BMERD > FH LT S=ZXF LM J




